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Wabhikuli - Shoreline Positions and Erosion Rates
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transect location for that year.
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999 = Hardshoreline designated at that

transect location for that year.



Wabhikuli - Shoreline Positions and Erosion Rates
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+ = Shoreline Position
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O = Hardshoreline designated at that
transect location for that year.

Tr#17
500t EPR=0.0
RLS =-0.0
400| AEHR =999.0
300
200
1900 1950 2000
Tr# 20
EPR = 0.2
5001 RLS=0.0
AEHR ='999.0
400
 a—— — -
300
200
1900 1950 2000
Tr# 23
EPR = 0.3
500 RLS=0.0
AEHR =999.0
400
P T
=t
300
200
1900 1950 2000
Tr# 26
EPR = 0.9
500! RLS=0.6
AEHR = 0.8
400 R
300 *
200
1900 1950 2000
Tr# 29
EPR = 0.9
500 RLS =0.6
AEHR = 0.7
400 T
_ +
300
200
1900 1950 2000
year

999 = Hardshoreline designated at that
transect location for that year.



Wabhikuli - Shoreline Positions and Erosion Rates
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distance(ft)
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+ = Shoreline Position
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O = Hardshoreline designated at that
transect location for that year.
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Wabhikuli - Shoreline Positions and Erosion Rates
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+ = Shoreline Position
= QOutlier
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Hardshoreline designated at that
transect location for that year.
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999 = Hardshoreline designated at that

transect location for that year.



Wabhikuli - Shoreline Positions and Erosion Rates
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+ = Shoreline Position
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Tr# 61
S
4001 AEHR =999.0
300 & — —
200
100
1900 1950 2000
Tr# 64
5001 EPR=-0.1
RLS =0.0
400 AEHR =999.0
300 BE===
200
100
1900 1950 2000
Tr#67
RLS <00
4001 AEHR = 999.0
300} @& — _ _
e —
200
100
1900 1950 2000
Tr # 70
EPR=0.2
400} RLS=0.0
AEHR =999.0
300
200
100
1900 1950 2000
Tr# 73
500" EpR =06
RLS=0.6
400f AEHR =05
300 __BE=—0d
+
200
100
1900 1950 2000
year

O = Hardshoreline designated at that
transect location for that year.
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999 = Hardshoreline designated at that
transect location for that year.



Wabhikuli - Shoreline Positions and Erosion Rates
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O = Hardshoreline designated at that
transect location for that year.
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Wabhikuli - Shoreline Positions and Erosion Rates
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O = Hardshoreline designated at that
transect location for that year.
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Wabhikuli - Shoreline Positions and Erosion Rates
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Hardshoreline designated at that
transect location for that year.
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Wabhikuli - Shoreline Positions and Erosion Rates
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O = Hardshoreline designated at that
transect location for that year.



